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QUESTION 1

In the Oracle database environment, how can 3PAR Priority Optimization help to improve the application? 

A. Setting the IOPS increases the throughput of data per second, thus decreasing the completion time of databases
queries. 

B. Setting the response time or latency improves transaction times in the database. 

C. Setting the bandwidth controls the IOPS, thus only applying to OLTP workloads. 

D. Setting the bandwidth reduces the wait time of the storage responding to the server request. 

Correct Answer: A 

 

 

QUESTION 2

What does RMC do to retrieve a data set that is no longer available within the HPE 3PAR snapshot? (Select three.) 

A. It creates a clone R/O snapshot virtual volume using Catalyst Copy from StoreOnce Catalyst Store. 

B. RMC performs a Catalyst Copy over Ethernet via the 3PAR File Persona port from StoreOnce. 

C. RMC performs a block comparison between Express Protect Backups. 

D. RMC performs a Peer Copy from StoreOnce to a child snapshot virtual volume in 3PAR. 

E. The child snapshot is then attached/mounted to a host to recover the files. 

F. It creates a child R/W snapshot on the 3PAR. 

Correct Answer: BDE 

 

QUESTION 3

What happens to the peer volume in a Peer Persistence configuration when a failover happens? 

A. The peer volume in the destination array changes the WWN by adding "10" to the last 2 numbers of the WWN in the
primary array. 

B. The peer volume in the destination array adds the destination array serial number in HEX to the WWN from the
primary array. 

C. The peer volume WWN in the destination array is randomly generated during failover. 

D. The state of the paths changes from passive/non-optimized to active/optimized. 

Correct Answer: B 
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QUESTION 4

Which HPE Storage family should you recommend to a customer who is looking Tor maximum availability with the
lowest in class TCO for enterprise consolidation? 

A. HPE 3PAR StoreServ 

B. HPE Simplivity 

C. HPE Nimble 

D. HPE XP 

Correct Answer: B 

 

 

QUESTION 5

In which state of the Peer Motion unidirectional workflow does the host access the volumes on the source storage
system through the destination storage system? 

A. Import 

B. Admit 

C. Dismiss 

D. Admitvv 

Correct Answer: C 
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